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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Question nos. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question [/ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be

stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to and if answered in much longer
or shorter than the prescribed length, marks may be deducted.

Graphs/illustrations, wherever required, may be drawn/given in the space provided for answering
the question itself.
Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question

shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off.
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SECTION A

Ql. TrfrRaa uce T9A T I U 150 YSGT H T

Answer the following questions in about 150 words each :

(a)

(b)

(c)

(d)

(e)

T Y 39 91 1 qHLT K 6 Ira § wg FREm i o W w e
TRY ? HRI ST |

Would you advocate that the income of rich farmers should be taxed in

India ? Give reasons.

“Feffrat (afsbdis) sTeatar 3t YSIEIN ST T &I & |7 1 39 HRd &
el ¥ 30 99 9 HgHd 8 ? 379 I 1 3iifae N |

“Subsidies are a source of inefficiency and corruption.” Do you agree

with the statement in the Indian context ? Justify your answer.

TR e S 1 st aREuRrEl B anen fhg s da g @
3R 39 GHEAT o THTIH o foTT I 3U™ e S @® ® ?

What caused the problem of non-performing assets of Indian commercial

banks and what cures are being suggested to solve the problem ?
el g€ § 9 § 3 U@ gg I OF % U i § SH-H fGER
ffga o 2

What were the considerations underlying the initiation of the railways

and the road transport system in India in the 19t® century ?
33NEdl wdl § wra @ fafmio it feufy W ot sawees T-sharfie «
ush gigred feoaoft faafay | |

Write a brief note on the state of manufacturing in India in the

18th century and the subsequent de-industrialisation.
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Q2. (a)
(b)
(c)
Q3. (a)
(b)

(c)

Wﬁl‘q‘lﬁwwaﬁq?f%‘?agf\wﬁ 19<—=ﬁmawq°rﬁw%ﬁ@éq=rﬁ
fpe TR Tuse el @ 2

What is drain theory ? How does it explain the backwardness of India in
the 19th century ?

FT ATk foem o el 9d % rd ¥ ooy onepr & urdw srefeuaeen %
gfd geeeivT # Hewequl afads g3 o ? o799 e % U § fafive 3grmw
@ |

Do you think that the attitude of the British Government towards the
Indian economy changed markedly at the turn of the 19th century ? Give
specific instances supporting your argument.

Wi H SR sH % A fafim g Y et i 98 § s
9 ¥ -8 foanr safifea & 2 fag=mn i |

What were the broad considerations underlying the different types of
land settlements in India during the colonial rule ? Discuss.

Ud # B | famgiente % adue § o faehe wiasy § wg@ wam@ w1 amaee
FIT The & ?

What is your assessment of the principal impact of the recent
demonetization in India in the immediate and medium terms ?

WRA % UTH SHIhhIA TIIY WTed i *h g8q GHIaT § | 39 19 I T
FIRT g1 37 AFwH U i T FIvw, s grr =8 g R
Tl & |

India has a vast potential to reap a demographic dividend. Explain the
point and discuss the necessary measures to realise it.

fUsd =R Rl § 9Ra & el Wil 30 (SR # Rfmin 8y ¥
s A G =Yg W] 2 v foem # soen fisare S
@1 8 S AR 39 AR § 1 HREGE O H e @ R 2

What is the broad trend of the manufacturing sector’s relative share in
GDP in India over the last four decades ? How do you view its
performance and what actions does the government contemplate in this
matter ?
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(a)

(b)

(c)

I <h1 o7k afyg & Tro-any Sgdt g3 EAd i = W 8 | 98 39 YK
%ﬁﬁ@%ﬁwww%ﬂwwémﬁﬁ%mwﬁ
HTEh B 2

India’s economic growth is associated with rising inequality. How does it
so happen and what actions need to be taken to mitigate the problem ? 20

A 9t W fUse Tk gk % GHH WRA % foeil SR i sa9es T W R
<] @i A9 W Teh fewnft faflaw |

Write a note on the broad trend of India’s foreign trade and current
account balance during roughly the last one decade. 15

R TR & fafiaw Aifa =1 g giemr Hifse |

Critically examine the Disinvestment Policy of the Government of India. 15
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SECTION B

Q5. ArefeRad T T9R T 3T ST 150 Weat W Eig

Answer the following questions in about 150 words each :

(a)

(b)

(c)

(d)

(e)

ST T & WA % wehel Te 38 (S ) § T w wnfden e
- Tedr @1 3 | T 2T IR A ug srefexereer il USRI i i@iiehd
Sl g 2 9HSET |

Relative contribution of agriculture to the GDP of India has been going
down steadily since Independence. Do you think this highlights a

weakness of the economy ? Explain.

Ww%m’ﬁﬁﬁwaﬁaﬂimmﬁ%ﬂmwﬁm
i |

Explain the concept and the underlying rationale of ‘Universal Basic

Income’.

T 61 ol gfy §, YEW, Y T we S e ekl @ @ ?
What role are MSMEs playing in India’s economic growth ? |

ey 90 3 @9 3 T & WiE # Sniie IEE w1 W e oty
m,amﬁwaﬁ@aaﬁﬁaﬁaa@wwwwh%m 1’ gerse i |

“Though economic liberalisation in India in the mid 90s aimed at
industrial growth, actually the services sector led the economy.”
Elucidate.

1 e Rrew @ i B g § Ee W g @ s o fatd
@@%?Wwaﬁémqaﬁ@m%?ééﬂﬁmml

Do you think the recent appfeciation of Indian currency is harming

India’s exports ? Can it have a beneficial side too ? Explain in brief.
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(a)

(b)

(e)
Q7. (a)

(b)

(c)
STH-D-ECON
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R # T e % faf wrmat @ aifsd amife-oniie wR v w6
T T | W SEEE w1 IgE T ot S wEeie LT T
Tehe Tegd hIfT |

The various anti-poverty programmes have not achieved the desired

socio-economic progress in India. Write down the major programmes and
your broad based assessment of their weaknesses.

Wﬁ%&ﬁﬁﬁwmﬁ%mﬁmﬁﬁw-w%?mql

What are the merits and demerits of the case of farmers’ loan waiver in
India ? Explain.

wﬁwm%mﬁmé,ﬁﬁﬂ%ﬂmﬁﬁaﬁ%m
TS a1 AT & | gease Hifv |

Even though India is self-sufficient in the production of foodgrains,
Indian agriculture is faced with some major challenges. Elucidate.

Ul srefereeen # faRsht yeaer iy (w.@.a@.)aﬁwﬁmqﬁw
ﬁaﬁ%?ww.ﬁ.aﬁ.ﬁmw%ﬁﬁqwﬁ%mﬂw%
AT < ! Toh-foh Tefiamdt =t s1oemT =fRw 2

What developmental role can FDI play in a backward economy ? What
policy has India been following to attract FDI and what safeguards
should the country adopt ?

account of the evolution of the concept of economic planning
r Independence.

e WA w (SwE ) w e fif | forciwor HifSw 6 ow wra &
SRR B hT TR TwIfaa 3 o &1 2 |

Explain GST. Analyse how it is going to impact Indian business.
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8. (a)

(b)

(c)
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W:mﬁmﬁwﬁmw'w%lmw@ﬁ
w1 gt fopm TR T ?

The quality of employment, in general, in India is perceived to be
alarming. How would you analyse the situation ?

wﬁﬁaﬁm%ﬁw%ﬁmﬁ,wﬁ%ﬁn@ﬁﬁﬁmuﬁ%w
6 feufs =1 we wftre faveo seqd HiT |

Give a short analysis of the state of devolution of resources from the
Centre to the States in India in the light of the idea of fiscal federalism.

WRE § a9 a9 i safh o i feufy o afafafy R @ R 2@
FE QAT o hedaTT h) THEH 9§ Gur @ 2 fafiree s i |

How did per capita income in India behave since Independence ? Has it
improved the well-being of the people uniformly ? Give specific reasons.
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